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4. 24+ Tx+10 2 F dxpAo] HFo7
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7. 12ax? — 12axy + 3ay*> & A5E3WSHA?

@® 12(ax - ay)? @ 6a(x—y)? ® (6ax —ay)?
@ 3a(x-y)? @3a(2x -y)?

12ax? — 12axy + 3ay? = 3a(4x> — 4xy + y?)
=3a(2x -y)?




9x* + Ax + 16 7} A FA o] F== & w, A 9] 27

O 24 @ 12 @ +10 @ +12 @124

9x2 + Ax + 16 = (3x £ 4)% = 9x? + 24x + 16
A=+24




9.

x=3+2V2, y=3-2v2 4 o, x2 % o] g& 52

O 24 @ -24 ®0
@ —24+2 024«/'

B
x2—y2
= (x+y)(x-v)
=(3+2V2+3-2V2)(3+2V2-3+2V2)
=6x4V2 =242




10. o2 5 27ax? — 12ay? & vI2 7 A4HE3) oF A2?

@ (3ax-—3y)? @ 32(3ax - 4ay)?
® 3a(32%ax — 4ay)? @3a(3x + 2y)(3x —2y)

® 3(9ax? - 4ay?)

27ax? — 12ay? = 3a(9x? — 4y?)
= 3a(3x + 2y)(3x — 2y)




11. o2 4 a® - 645 A5 3lotH?

@@ +8)a-8) @ (a+32)(a-2)
® (a+32)(a-32) @ (a+8)(a+8)
® (a+16)(a-4)

‘ a’-64=a>-8%=(a+8)(a-8)




12.

GG 2+ 402 (xa)(x+b) 2 ISR ek o
a, b7t A% o, ke % oro] & ATshA] e AL

® -22 @ -13 @20 @ 22 ® 41

40=5x8=2x20=1x40=4x10
= (=5) x (=8) = (=2) x (-20)
= (-1) x (-40) = (-4) x (-10)

(
[ o 2
—41, -22, -14, -13, 13, 14, 22, 41




13. 3 +7x-6=(x+3)(3x +|

) oA |

3x24+7x-6=(x+3)(3x-2)




14.

xof Tt o] ZFA] k2 fax+4 2 FAFTx+1 L W, 9] F2?

D1 @ 2 ® 3

@ 4

@

T2 A5 x+ A 2 5,
(x+1)(x+A) =x*>+A+1)x+A
=x>+ax+4




15. T oA x2-5x+4a,2x2 -bx—12 o] FEQI L7 x-3 0|8t &
o, a4+ b 9] ZH2?

@© 2 @ 4 ®7 @)8 ® 9

=(x-3)(x+k &2 Sh
2 4+ (k-3)x -3k
k-3=-5 —-3k=a
k=-2 - a=(-3)x(<2) =6
7R 2 352 57t x -3 0| BEm
2x% —bx—12 = (x = 3)(2x + m) = 2x> + (m - 6)x — 3m
m—6=-b, —3m=-12
m=4 .. b=6-4=2
“a+b=6+2=8




16. (Bx+1)(3x-1)-2(Bx-1)>Z AMNSFH A2 + Bx+C L 1, C9
= Fotelet

Ch "
=

>
> met: ¢

od =

=-3

B ~

(F4) = (3x-1)(3x+1-6x+2)
= (3x—1) (-3x +3)
=-9x24+9x+3x-3
=-9x2 4+ 12x-3
=Ax> +Bx+C

L C=-3




S g b St a-b <0, ab < 0 L W, Va? - 6ab + 92 —
7

V&~ 2a 1 & 2e] sh?

D -2a-1 @)3b -1

@ —2a+3b-1 ® 2a+3b+1

B

® 3b+1

a<0, b>00]B2

Va2 — 6ab + 9b2 — Va2 —2a + 1
= /(a-3b)2 - \/(a—1)?
=|a-3b|—|a-1|
=-a+3b+a-1=3b-1




18.

4x? = 5xy—6y? = (ax+by)(cx+dy) BE A5H
o] gh2?

)

4x? — 5xy — 6y? = (4dx + 3y)(x — 2y)
(ax + by)(cx + dy) = (4x + 3y)(x — 2y)
ac =4, bd = -6

. ac—bd=4-(-6) =10




19. ax®+5x+bE x+3, 2x- 12 ALZ 7H wf a+ b 2] LS F5teiet.

(x+3)(2x—1) =2x> —x+6x-3
=2x? +5x—3

T a=2, b=-3

a+b=2-3=-1




20. (x-3)(x+a) -2 7} A7 B4 F dapale] go2
W, o 7h D 4 S e BE Fojolet
> E:
> £
> A a=-4
> He: g=-2

B

(x=3)(x+a)-2=(x+a)(x+p5)
¥+ (@-3)x—3a-2=x>+(@+B)x+aB

@2 a=a+p+3=2 Ol Ayt
-3a-38-9-2=ap
af+3a+36+9=-2
(@+3)(B+3)=-2

a+3=+1 4, g+3=5202F
(o, B) = (-2,-5), (-4,-1)
a=a+B+3°E=2

ot ¢ = -4 B -2 o[t}




21. oA ax® - 19x+b 7t (x-5) 2} Bx-4) EJFEZ ML W, a+ b
o] g& Fotolet

ax> —19x+ b= (x-5) (3x—4) = 3x* - 19x + 20
a=3, b=20
sa+b=3+20=23




22. 1A ax® —Tx+b 7} (2x—1) ¢ (3x—-2) E Q15E 7w, ab 9
A TotH?

@ 4 @7 @12 @ 15 ® 18

B

(2x-1)(3x—2) =6x> - Tx+2
=ax®>-Tx+b

La=6,b=2

soab =12




23. 2x%+(2a-3)x-15 & Ag-ENSHH (2x - 3)(x +5) 2l 2t a 9
&= ool

> E.

> =t a=5

2x2 4+ (2a-3)x—15 = (2x - 3)(x + 5)

=2x2 4+ Tx—-15
20—-3=7 a=5




24. 32 - Ax—5 7} x—5 2 Uiro] Mol 1, 4 o] gL Falofet,

> E.

> Het: A=14

B

22 ax+ b 2 oA
3x> = Ax—5 = (x-5)(ax+b)

= ax?® + bx — 5ax — 5b
a=3,-5b=-5,b=1
b-ba=1-15=-14=-A,A=14




25. x o Tk olAHA] 1242 4 ku - 7 o] Tste] Q1Ee T At A4 k o]
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(x+7)(12x—1) = 12x% + 83x - 7




